B A N

1. LEA4
TE4 R6 + 7 - 8INEEEMFHERMER LFE (56 4F)
TEH 4 I [E T HEFF AR AT N
2. LTHEANK
1)  FHEIT4 PG EEFHET  ERE R
2) T I& THEEMER T
3) T i 736 H [ H S 7THE 1H 9H
ES 0 9% 1H14H
4) T EgE

i@ Aokt 5w m



I
iy
%
I

T4 | R6 - 7 - SEEEMEREBHEE TF (56 4E)
THRX Sy « Lff - fi5 Bz ¥ = & i a1l M 7
B BRAHERY Y 1 89, 716
A MV T Y 1 53, 936
AR ES T = 1 53,936 | EAR—fRIEEER 3 R
TR — At EEA 1 |
(D)
FREREEER 3 |
FREREEER 1 |
(D)
EmiEER 3 R
EmiEER 1 R
(D)
A2V 3 REfH
2tF8 ;
FGan Y 1 35, 780
AT Y 1 35, 780 | A3 1Mk E (i 5 1 7
A
RIBTH G B 1 2V
B
[EREES 2V 1 89, 716
Il R Y 1 33, 000
o = 1 3, 000
BIGRIEUER (FE L) Y 1 3, 000
Il (it L) Y 1 30, 000
il T Y 1 122,716

i@ Aokt 5w m




FNER

TH4L | R6 - 7 - SHAEEMHFHE KM TFE (56 4£)E)

THXSy - TH - fly HOfr ¥ & & fH # bl N g
B Bt v 91, 000
TRl = 213,716
—fRE R % v 46, 284
L FER v 2, 970, 000
T fifik& = 3, 230, 000

i@ Aokt 5w m




B A N

1. LEA4
TE4 R6 + 7 - 8INEEEMFHERMER LFE (G 74HE)
TEH 4 I [E T HEFF AR AT N
2. LTHEANK
1)  FHEIT4 PG EEFHET  ERE R
2) T I& THEEMER T
3) T i 736 H [ H S 7THE 1H 9H
ES 0 9% 1H14H
4) T EgE

i@ Aokt 5w m



HNERE

3=
T4 | R6 - 7 - SMEEEMEREBHEE TF (5 7 44E)
THRX Sy « Lff - fi5 Bz ¥ = & Hm a1l W 7
B BRAHERY Y 1 44, 148, 361
ERLT Y 1 365, 960
PEHI T Y 1 33,710 | #@H! 100 m3
+#)
AR+ T Y 1 332,250 | A (SEER) B+ 50 m3
AAE T = 1 660, 200
TA7 7V MRS T = 1 660, 200 |~ yFuy” 10 t
ORI EET A7 7V ME S (13FH) SCE A A
BEAKIEEY T = 1 804, 780
% T = 1 804, 780 |{HIiEZ 80 5q
CT-B300-1500 ;
TR 25 30 e
SG2T-300-1.995 ;
&L = 1 73, 000
[oZamn = 1 73,000 |HRHLEBERT ny) 10 m
Fa- I 1-200-1.2000 ;
B A T = 1 2, 142, 250
AR B AT T = 1 716,500 |# =} L=y 50 m
Gr-A-4E(J =177 79)
B3 1 T B 1 1,425,750 | sk (BT B 1A 50 m
P1-1.1-3. OE(} =77 797)
HATE (KRBT B A 50 m
P1-1.1-3. 0B(} =7 797)
2= FL 50 fL
¢ 100 1L=200 ;
R =M 1 2,160, 000

i@ Aokt 5w m




il

il
o
gﬁlt
Tt

THL | R6 - 7 - SHAEEMHFHERMEE TE (57 4£E)

THRX Sy « Lff - fi5 Bz ¥ = & i a1l % 7
SRR T = 1 2,160, 000 | FEgRAK 20 %
AR A VARVANNY VAR 41V S
BB E R T Y 1 3,790, 500
HEATEY T = 1 3,790, 500 | fRARFAEIE 50 A
DLSA-5 (B #SHA) Frm 4 ;
TR S AT 50 A
DLSA-5 (2v7)-}atA (B FL & Te) ) FiEi G ;
HHRSY BEAE 40 A
H=400 AIZE (2R L IRJD
HHRSY BEAE 40 A
H=650 AIZE (%L URJHD)
AN =N T = 1 2,384, 100
WrmmiEE T 7 1 2,384,100 |A'H LiE 3 HEvEY)
EE Y D ABEIEREE 0. 26m3 & Jv—thy bow
IV BRI L BRERBL SR LI
i T = 1 14, 410, 500
AT = 1 140, 500 | fH-HAfG 500 m2
ERT Y 1 14, 270, 000 | MRAF 500 m2
[ Bk o T = 1 675, 400
BhELa) )=} Y 1 675, 400 |HE D 2/))-} 200 m2
18-8-40BB W/C=<65% t=10cm ;
S AL T = 1 10, 786, 115
IRV RS T 2V 1 10,786,115 | LAR—fR A5 1, 000 REfH
TR — A 1 100 |
(D)
FREREEER 100 PR
FEEREXER 10 FEE (]

-2 - ESR o3 E < o] 3 ok S




B N ERE

THL | R6 - 7 - SHAEEMHFHERMEE TE (57 4£E)

LHFXSy - LfE - fljl A B & & B A ] ] 7
(&)
EEIEHR 900 |
EEIEHR 400 |
(&)
VAV 200 R F
2tFH ;
VAV 100 R F
ALFE
Ny) (= HEEAT) 100 |
4R 2.9t ;
FAMN Y 100 R F
2000cc ;
KR V7 50 5]
F4550mm 2 E5FE10m
R 5 H
3KVA ;
FEE YR T 2V 1 802, 656
B = T v 1 402, 656 | B (0 =k V- 80 m
Gr-A—4E ;
BHFEMHR S (0 =1 Vv-w) 80 m
Gr-B-2B ;
5 A CRE I - R TR 1) fi s 80 m
P1-1.1-3. 0E ;
S5 R CRE I - R TR 1) fi s 80 m
P1-1.1-3.0B ;
PR IE M E T 2V 1 214,900 |UBU{HITE TS 100 m
PUT-B300-L2000 ;
TH AT IR hE A S 2V 1 185, 100 | BLHRSY BEAZ 2= 100 VN
ZE AL (R
R T Y 1 5, 092, 900
RIBEBT =Y 1 2,377,700 | 2275 B 5 1 =
A

-3 - ESR o3 E < o] 3 ok S




f

f

f

FHRENARE
TH4 | R6 - 7 - 8MEEEHERHERMES THE (5 74 5)
THXSy - TR - fER VA " & & H A il 2 7
i e K =] 1 v
REEHT = 1 2, 715, 200 /\@?.Bﬁ%;%ﬁé 1 =
A
i e K =] 1 v
B T v 1 44, 148, 361 .
B Y = 1 5, 452, 000
ESGIITE = 1 512, 000
BGRESE (FE L) = 1 512, 000
IBEER T (K5 1) = 1 4, 940, 000
M A = 1 49, 600, 361
B e R v 1 22, 141, 000
TR = 1 71, 741, 361
— R A PR v 1 12, 798, 639
W ZRORE v 1 16, 540, 000
T HAliks = 1 101, 080, 000

i@ Aokt 5w m



B A N

1. LEA4
TE4 R6 + 7 - 8INEEEMFHERMER LH (5 84F)
TEH 4 I [E T HEFF AR AT N
2. LTHEANK
1)  FHEIT4 PG EEFHET  ERE R
2) T I& THEEMER T
3) T i 736 H [ H S 7THE 1H 9H
ES 0 9% 1H14H
4) T EgE

i@ Aokt 5w m



B N ERE

THL | R6 - 7 - SHNAEEMHFHERHMEE TFE (5 8 4£)E)

THRX Sy « Lff - fi5 Bz ¥ = & Hm a1l W 7
B BRAHERY Y 1 40, 064, 020
ERLT Y 1 365, 960
PEHI T Y 1 33,710 | #@H! 100 m3
+#)
PR+ T = 1 332,250 | BEIR (L) R+ 50 m3
AAE T = 1 660, 200
TA7 7V MRS T = 1 660, 200 |~ yFuy” 10 t
ORI EET A7 7V ME S (13FH) SCE A A
BEAKIEEY T = 1 1, 241, 100
% T = 1 1,241,100 |fAIEE 100 5q
CT-B300-1500 ;
TR 25 50 e
SG2T-300-1.995 ;
&L = 1 73, 000
[oZamn = 1 73,000 |HRHLEBERT ny) 10 m
Fa- I 1-200-1.2000 ;
B A T = 1 2,316, 825
AR B AT T = 1 716,500 |# =} L=y 50 m
Gr-A-4E(J =177 79)
B3 1 T B 1 1,600, 325 |7k () B 14 70 m
P1-1.1-3. OE(} =77 797)
HATE (KRBT B A 70 m
P1-1.1-3. 0B(} =7 797)
2= FL 15 fL
¢ 100 1L=200 ;
R =M 1 1, 620, 000

-1 - ESR o3 E < o] 3 ok S




il

il
o
gﬁlt
Tt

THL | R6 - 7 - SHNAEEMHFHERHMEE TFE (5 8 4£)E)

THRX Sy « Lff - fi5 Bz ¥ = & F i a1l % 7
SRR T = 1 1,620, 000 | FZE35AR 15 %
AR A VARVANNY VAR 41V S
BB E R T Y 1 2, 488, 800
HEATEY T = 1 2,488, 800 | fRMRFHEIE 40 A
DLSA-5 (B #SHA) Frm 4 ;
TR S AT 40 A
DLSA-5 (2v7)-}atA (B FL & Te) ) FiEi G ;
HHRSY BEAE 20 A
H=400 AIZE (2R L IRJD
HHRSY BEAE 20 A
H=650 AIZE (%L URJHD)
HvnT = T = 1 3,973, 500
WrmmiEE T 7 1 3,973,500 |AH LiE 5 HEvEY)
EE Y D ABEIEREE 0. 26m3 & Jv—thy bow
IV BRI L BRERBL SR LI
i T = 1 8, 474, 500
AT = 1 140, 500 | fH-HAfG 500 m2
ERT Y 1 8,334, 000 | WA 300 m2
[ Bk o T = 1 1, 688, 500
By )=} = 1 1,688,500 [4EV av))—} 500 m2
18-8-40BB W/C=<65% t=10cm ;
S AL T = 1 11,018, 815
IRV RS T 2V 1 11,018,815 | LAR—fR AL 1, 000 REfH
TR — A 1 100 |
(D)
FREREEER 100 PR
FEEREXER 10 FEE (]

-2 - ESR o3 E < o] 3 ok S




B N ERE

THL | R6 - 7 - SHNAEEMHFHERHMEE TFE (5 8 4£)E)

LHFXSy - LfE - fljl A ¥ = & B A il ] 7
(&)
EEIEHR 900 |
EEIEHR 450 |
(&)
VAV 200 R F
2tFH ;
VAV 100 R F
ALFE
Ny) (= HEEAT) 100 |
4R 2.9t ;
FAMN Y 100 R F
2000cc ;
KR V7 40 H
F4550mm 2 E5FE10m
R 5 H
3KVA ;
FEE YR T 2V 1 903, 320
B = T v 1 503, 320 | Bt (0 =k V-0 100 m
Gr-A—4E ;
BHFEMHR S (0 =1 Vv-w) 100 m
Gr-B-2B ;
BH M (REIT - S 5 ) f 2= 100 m
P1-1.1-3. 0E ;
BH M (REIT - S 5 ) f 2= 100 m
P1-1.1-3.0B ;
PR IE M E T 2V 1 214,900 |UBU{HITE TS 100 m
PUT-B300-L2000 ;
TH AT IR hE A S 2V 1 185, 100 | BLHRSY BEAZ 2= 100 VN
ZE AL (R
R T Y 1 5, 239, 500
RIBEBT =Y 1 2,777,100 | 2275 B fE 5 1 =
A

-3 - ESR o3 E < o] 3 ok S




f

f

f

FHRENARE
TH4 | R6 - 7 - 8IMEEEHERHERMERS THE (58 1)
THXSy - TR - fER VA " & & H A il 2 7
i e K =] 1 v
REEHT = 1 2, 462, 400 /\@?.Bﬁ%;%ﬁé 1 =
A
i e K =] 1 v
B T v 1 40, 064, 020 .
B Y = 1 5, 103, 000
ESGIITE = 1 472,000
BGRESE (FE L) = 1 472, 000
IBEER T (K5 1) = 1 4,631, 000
M A = 1 45, 167, 020
B e R v 1 20, 465, 000
TR = 1 65, 632, 020
— R A PR v 1 11, 837, 980
W ZRORE v 1 13, 520, 000
T HAliks = 1 90, 990, 000

i@ Aokt 5w m



